Chapter 8 Working Capital Management

Multiple Choice Questions

2.
The Objectives of Working Capital Management

	1.
	D
	All businesses face a tradeoff between being profitable (providing a return) and being liquid (staying in business).


3.
The Cash Operating Cycle

	2.
	C
	

	3.
	B
	The calculation of trade payables days gives the average period of credit extended to suppliers. As this amount increases, the cash operating cycle will shorten.

	4.
	D
	Increasing credit given to customers will increase the level of receivables and this will lengthen the working capital cycle.

	5.
	B
	The operating cash cycle is:

8 + 2 + 3 + 4 – 6 = 11 weeks
Option A takes the period from purchase on credit to sale on credit

2 + 3 + 4 = 9 weeks
Option C does not deduct any period for trade credit.

8 + 2 + 3 + 4 = 17 weeks
Option D adds the period for trade credit.

8 + 2 + 3 + 4 + 6 = 23 weeks

	6.
	B
	The operating cash cycle is average stock turnover period + average debt collection period – average creditor payment period.

	7.
	A
	The operating cash cycle is: 5 + 1 + 2 + 3 – 4 = 7 weeks

	8.
	A
	The length of the operating cycle is 52 + 42 + 30 – 66 + 45 = 103 days

	9.
	B
	Receivables collection period = 514/3,074 x 365 days = 61 days

Inventory turnover period = 160/1,884 x 365 days = 31 days

Payables payment period = 325/1,884 x 365 days = 63 days

Cash cycle = 61 + 31 – 63 = 29 days

The other choices involve using the incorrect numerators and denominators to calculate the collection, turnover and payment periods.

	10.
	C
	Receivables paying sooner will reduce receivables days and hence reduce the length of the cash operating cycle. The cost of the discount (approximately 2% per month as they pay a month earlier than usual) outweighs the interest saved on the overdraft (at 10% per annum this is less than 1% per month) hence the net effect will be reduced profit.


4.
Working Capital Ratios

	11.
	C
	Non-current assets = $50m/2·4 = $20·8m

Current assets = $20·8m/0·8 = $26m

Current liabilities = £26m

Current assets (less inventory) = 0·6 × $26m = $15·6m

Inventory = $26m – $15·6m = $10·4m

Option A multiplies the sales by sales:non-current asset ratio

Non-current assets = $50m × 2·4 = $120m

Current assets = $120m/0·8 = $150m

Current liabilities = $150m

Current assets (less inventory) = 0·6 × $150m = $90m

Inventory = $150m – $90m = $60m
Option B multiplies sales by sales:non-current assets ratio and the non-current assets by the non-current assets:current assets ratio

Non-current assets = $50m × 2·4 = $120m

Current assets = $120m × 0·8 = $96m

Current liabilities = $96m

Current assets (less inventory) = 0·6 × $96m = $57·6m

Inventory = $96m – $57·6m = $38·4m
Option D multiplies the non-current assets by the non-current assets:current assets ratio.

Non-current assets = $50m/2·4 = $20·8m

Current assets = $20·8m × 0·8 = $16·6m

Current liabilities = $16·6m

Current assets (less inventory) = 0·6 × $16·6m = $10·0m

Inventory = $16m – $10·0m = $6·0m

	12.
	B
	(216 + 42) / (180 + 60) = 1.08

	13.
	A
	$

Raw materials costs = $2.5m × 10%

250,000

Labour = $2.5m × 15%

375,000

Overheads = $2.5m × 5%

125,000

Cost of sales

750,000

Finished goods $750,000 × 2/52

28,846

Distracters

B = $250,000 × 2/52 = 9,615

C = $750,000 × 4/52 = 57,962

D = $(250,000 + 375,000) × 2/52 = 24,038



	14.
	D
	Receivables = $2.5m × 6/52 = $288,462

Distracters

A = $2·5m × 8/52 = 384,615

B = $750,000 × 6/52 = 86,538

C = $750,000 × 8/52 = 115,385

	15.
	B
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	16.
	A
	Current assets (£30m/5) = $6m

Current liabilities = $6m/2 = $3m

Quick assets = 1·5 × $3m = $4·5m

Stocks = $6m – $4·5m = $1·5m

Option B takes the stock as the difference between the current assets and current liabilities $6m – $3m = $3m.

Option C takes the stock as equal to the quick assets ($4·5m).

Option D adds the current assets to the quick assets to derive the stock figure ($6·0m + $4·5m) = $10·5m.

	17.
	A
	Current assets = $20m/4 = $5m

Current liabilities = $5m/2·5 = $2m

$5m – Inventory/$2m = 2

Therefore, inventory = $1m
B: is current assets less current liabilities = $3m

C: is quick assets = $4m

D: is current assets add inventory = $6m

	18.
	D
	The quick ratio = Current assets (less inventories)/Current liabilities.

If some inventory is sold on credit, all else being equal receivables (current assets) will increase, so the quick ratio will increase.

The current ratio = Current assets/Current liabilities. Inventory and receivables are both current assets. However as the inventory is sold at a profit, the increase in receivables will be more than the decrease in inventory, the net effect being an increase in current assets, hence the current ratio will increase.

	19.
	C
	The current liabilities figures used as the denominator will stay the same in both cases. The total of the current assets will decrease the reduction in the inventory value will be greater than the increase in cash. Therefore the current ratio will decrease. The total of the liquid assets will increase because of the higher cash balance. Therefore the quick ratio will increase.

	20.
	A
	Cash operating cycle decreases, liquidity ratio decreases.

The reduction in the amount of time taken for customers to pay their bills would reduce the cash operating cycle.

The reduction in receivables and in the overdraft mean that the

numerator and denominator of the liquidity ratio would both reduce by

the same amount. Therefore the ratio would decrease.

	21.
	B
	Inventory = 15,000,000 × 60/360 = $2,500,000

Trade receivables = 27,000,000 × 50/360 = $3,750,000

Trade payables = 15,000,000 × 45/360 = $1,875,000

Net investment required = 2,500,000 + 3,750,000 – 1,875,000 = $4,375,000


5.
Overtrading

	22.
	D
	Overtrading often occurs with young, successful, fast growing businesses. Cash being received from sales made a while ago (which were relatively low if the business is growing quickly) is insufficient to finance current production levels if growth is excessive. The result is a strain on cash flows, even if the business is technically profitable. Option B describes over-capitalisation.

	23.
	D
	Overtrading happens when a business tries to do too much too quickly with too little long term capital The business tries to support too large a volume of trade with the capital resources at its disposal. As such, the payment period to accounts payable is likely to lengthen (not shorten).

	24.
	B
	A long inventory holding period suggests high levels of inventory, which is consistent with a company having more resources than necessary.

	25.
	C
	

	26.
	B
	Excessive investment in current assets can lead to a high inventory holding period and low sales to working capital ratio.

	27.
	B
	Statement 1 is true. Statement 2 is false. The debt-to-equity ratio reflects the mix of capital rather than the total capital invested.

	28.
	D
	


Answers to Examination Style Questions
Answer 1
Objectives of working capital management:
1.
The objectives of working capital management are profitability and liquidity.
2.
The objective of profitability supports the primary financial management objective, which is shareholder wealth maximisation.
3.
The objective of liquidity ensures that companies are able to meet their liabilities as they fall due, and thus remain in business.

[1 mark]
Discussion of conflict between objectives:

4.
However, funds held in the form of cash do not earn a return, while near-liquid assets such as short-term investments earn only a small return.
5.
Meeting the objective of liquidity will therefore conflict with the objective of profitability, which is met by investing over the longer term in order to achieve higher returns.

[2 marks]
Good working capital management therefore needs to achieve a balance between the objectives of profitability and liquidity if shareholder wealth is to be maximised.
Answer 2

Objectives of working capital management:

1.
Profitability and liquidity are usually cited as the twin objectives of working capital management.
2.
The profitability objective reflects the primary financial management objective of maximising shareholder wealth, while liquidity is needed in order to ensure that financial claims on an organisation can be settled as they become liable for payment.

[1 – 2 marks]
Conflict between two objectives:

3.
The two objectives are in conflict because liquid assets such as bank accounts earn very little return or no return, so liquid assets decrease profitability. Liquid assets in fact incur an opportunity cost equivalent either to the cost of short-term finance or to the profit lost by not investing in profitable projects.

[1 – 2 marks]
Trade-off between two objectives:

4.
Whether profitability is a more important objective than liquidity depends in part on the particular circumstances of an organisation. Liquidity may be the more important objective when short-term finance is hard to find, while profitability may become a more important objective when cash management has become too conservative. In short, both objectives are important and neither can be neglected.

[1 mark]
Answer 3

· The objectives of working capital management are usually taken to be profitability and liquidity.
· Profitability is allied to the financial objective of maximising shareholder wealth, while liquidity is needed in order to settle liabilities as they fall due.
· A company must have sufficient cash to meet its liabilities, since otherwise it may fail.
· However, these two objectives are in conflict, since liquid resources have no return or low levels of return and hence decrease profitability.
· A conservative approach to working capital management will decrease the risk of running out of cash, favouring liquidity over profitability and decreasing risk.
· Conversely, an aggressive approach to working capital management will emphasise profitability over liquidity, increasing the risk of running out of cash while increasing profitability.

[3 – 4 marks]
Working capital management is central to financial management for several reasons.
· First, cash is the life-blood of a company’s business activities and without enough cash to meet short-term liabilities, a company would fail.
· Second, current assets can account for more than half of a company’s assets, and so must be carefully managed. Poor management of current assets can lead to loss of profitability and decreased returns to shareholders.
· Third, for SMEs current liabilities are a major source of finance and must be carefully managed in order to ensure continuing availability of such finance.

[3 – 4 marks]
Answer 4
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Answer 5
Objectives and advantages of working capital management:

1.
The objectives of working capital management are often stated to be profitability and liquidity. These objectives are often in conflict, since liquid assets earn the lowest return and so liquidity is achieved at the expense of profitability. However, liquidity is needed in the sense that a company must meet its liabilities as they fall due if it is to remain in business. For this reason cash is often called the lifeblood of the company, since without cash a company would quickly fail. Good working capital management is therefore necessary if the company is to survive and remain profitable.

[2 marks]
Credit management effect:
2.
The fundamental objective of the company is to maximise the wealth of its shareholders and good working capital management helps to achieve this by minimising the cost of investing in current assets. Good credit management, for example, aims to minimise the risk of bad debts and expedite the prompt payment of money due from debtors in accordance with agreed terms of trade. Taking steps to optimise the level and age of debtors will minimise the cost of financing them, leading to an increase in the returns available to shareholders.

[2 marks]
Stock management effect:
3.
A similar case can be made for the management of stock. It is likely that Velm plc will need to have a good range of stationery and office supplies on its premises if customers’ needs are to be quickly met and their custom retained. Good stock management, for example using techniques such as the economic order quantity model, ABC analysis, stock rotation and buffer stock management can minimise the costs of holding and ordering stock. The application of just-in-time methods of stock procurement and manufacture can reduce the cost of investing in stock. Taking steps to improve stock management can therefore reduce costs and increase shareholder wealth.

[2 marks]
Other example:
4.
Cash budgets can help to determine the transactions need for cash in each budget control period, although the optimum cash position will also depend on the precautionary and speculative need for cash. Cash management models such as the Baumol model and the Miller-Orr model can help to maintain cash balances close to optimum levels.

[1 mark]
The different elements of good working capital management therefore combine to help the company to achieve its primary financial objective.
Answer 6

	Raw materials inventory holding period
	21

	Less: Suppliers’ payment period
	(42)

	WIP holding period
	14

	Finished goods holding period
	28

	Receivables’ collection period
	56

	
	77


Answer 7
Meaning of cash operating cycle:

The cash operating cycle is the length of time between paying trade creditors and receiving cash from debtors. It can be calculated by adding together the average stock holding period and the average debtors’ deferral period, and then subtracting the average creditors’ deferral period. The stock holding period may be subdivided into the holding periods for raw materials, work-in-progress and finished goods. In terms of accounting ratios, the cash operating cycle can be approximated by adding together stock days and debtor days (debtors’ ratio) and subtracting creditor days (creditors’ ratio). If creditors are paid before cash is received from debtors, the cash operating cycle is positive; if debtors pay before trade creditors are paid, the cycle is negative.


[2 marks]
Significant level of working capital management:
1.
The significance of the cash operating cycle in determining the level of investment in working capital is that the longer the cash operating cycle, the higher the investment in working capital.
2.
The length of the cash operating cycle varies between industries: for example, a service organization may have no stock holding period, a retail organization will have a stock holding period based almost entirely on finished goods and a very low level of debtors, and a manufacturing organization will have a stock holding period based on raw materials, work-in-progress and finished goods. The level of investment in working capital will therefore depend on the nature of business operations.

3.
The cash operating cycle and the resulting level of investment in working capital does not depend only on the nature of the business, however. Companies within the same business sector may have different levels of investment in working capital, measured for example by the accounting ratio of sales/net working capital, as a result of adopting different working capital policies. A relatively aggressive policy on the level of investment in working capital is characterized by lower levels of stock and debtors: this lower level of investment increases profitability but also increases the risk of running out of stock, or of losing potential customers due to better credit terms being offered by competitors. A relatively conservative policy on the level of investment in working capital has higher levels of investment in stock and debtors: profitability is therefore reduced, but the risk of stock-outs is lower and new credit customers may be attracted by more generous terms.

4.
It is also possible to reduce the level of investment in working capital by reducing the length of the cash operating cycle. This is achieved by reducing the stock holding period (for example by using JIT methods), by reducing the debtor deferral period (for example by improving debtor management), or by increasing the creditor deferral period (for example by settling invoices as late as possible). In this way an understanding of the cash operating cycle can assist in taking steps to improve working capital management and profitability.


[5 marks]
Answer 8
(a)

Calculation of ratios:

	Stock days
	2006: (3,000/9,300) × 365 = 118 days

	
	2005: (1,300/6,600) × 365 = 72 days

	
	Sector average: 90 days

	
	

	Debtor days
	2006: (3,800/15,600) × 365 = 89 days

	
	2005: (1,850/11,100) × 365 days = 61 days

	
	Sector average: 60 days

	
	

	Creditor days
	2006: (2,870/9,300 × 95%) × 365 = 119 days

	
	2005: (1,600/6,600 × 95%) × 365 = 93 days

	
	Sector average: 80 days



[3 marks]
Comment:

In each case, the ratio in 2006 is higher than the ratio in 2005, indicating that deterioration has occurred in the management of stock, debtors and creditors in 2006.
Stock days have increased by 46 days or 64%, moving from below the sector average to 28 days – one month – more than it. Given the rapid increase in turnover (40%) in 2006, Anjo plc may be expecting a continuing increase in the future and may have built up stocks in preparation for this, i.e. stock levels reflect future sales rather than past sales. Accounting statements from several previous years and sales forecasts for the next period would help to clarify this point.
Debtor days have increased by 28 days or 46% in 2006 and are now 29 days above the sector average. It is possible that more generous credit terms have been offered in order to stimulate sales. The increased turnover does not appear to be due to offering lower prices, since both gross profit margin (40%) and net profit margin (34%) are unchanged.
In 2005, only management of creditors was a cause for concern, with Anjo plc taking 13 more days on average to settle liabilities with trade creditors than the sector. This has increased to 39 days more than the sector in 2006. This could lead to difficulties between the company and its suppliers if it is exceeding the credit periods they have specified. Anjo plc has no long-term debt and the statement of financial position indicates an increased reliance on short-term finance, since cash has reduced by $780,000 or 87% and the overdraft has increased by $850,000 to $1 million.
Perhaps the company should investigate whether it is undercapitalised (overtrading). It is unusual for a company of this size to have no long-term debt.

[3 marks]
(b)

Cash operating cycle (2005) = 72 + 61 – 93 = 40 days
[1 mark]
Cash operating cycle (2006) = 118 + 89 – 119 = 88 days
[1 mark]
The cash operating cycle or working capital cycle gives the average time it takes for the company to receive payment from debtors after it has paid its trade creditors. This represents the period of time for which debtors require financing. The cash operating cycle of Anjo plc has lengthened by 48 days in 2006 compared with 2005. This represents an increase in working capital requirement of approximately $15,600,000 x 48/365 = $2.05 million.

[2 mark]
(c)

Working capital and business solvency:

1.
The objectives of working capital management are liquidity and profitability, but there is a tension between these two objectives. Liquid funds, for example cash, earn no return and so will not increase profitability. Near-liquid funds, with short investment periods, earn a lower return than funds invested for a long period. Profitability is therefore decreased to the extent that liquid funds are needed.
2.
The main reason that companies fail, though, is because they run out of cash and so good cash management is an essential part of good working capital management. Business solvency cannot be maintained if working capital management in the form of cash management is of a poor standard.

[3 – 4 marks]
Factors influencing optimum cash level:

In order to balance the twin objectives of liquidity and profitability in terms of cash management, a company needs to decide on the optimum amount of cash to hold at any given time. There are several factors that can aid in determining the optimum cash balance.
1.
First, it is important to note that cash management is a forward-looking activity, in that the optimum cash balance must reflect the expected need for cash in the next budget period, for example in the next month. The cash budget will indicate expected cash receipts over the next period, expected payments that need to be made, and any shortfall that is expected to arise due to the difference between receipts and payments. This is the transactions need for cash, since it is based on the amount of cash needed to meet future business transactions.
2.
However, there may be a degree of uncertainty as to the timing of expected receipts. Debtors, for example, may not all pay on time and some may take extended credit, whether authorised or not. In order to guard against a possible shortfall of cash to meet future transactions, companies may keep a ‘buffer stock’ of cash by holding a cash reserve greater than called for by the transactions demand. This is the precautionary demand for cash and the optimum cash balance will reflect management’s assessment of this demand.
3.
Beyond this, a company may decide to hold additional cash in order to take advantage of any business opportunities that may arise, for example the possibility of taking over a rival company that has fallen on hard times. This is the speculative demand for cash and it may contribute to the optimum cash level for a given company, depending on that company’s strategic plan.

[4 – 5 marks]
(d)
	
	$000
	Marks

	Current debtors =
	3,800
	

	Debtors under factor = 3,800 × 0.7 =
	2,660
	

	Reduction in debtors =
	1,140
	[1]

	
	
	

	Finance cost saving = 1,140 × 0.08 =
	91.2
	[1]

	Administration cost saving = 1,000 × 0.02 =
	20.0
	[1]

	Interest on advance = 2,660 × 0.8 × 0.01
	(21.3)
	[2]

	Factor’s annual fee = 15,600 × 0.005 =
	(78.0)
	[1]

	Net benefit of accepting factor’s offer
	11.9
	[1]


Conclusion and discussion:
Although the terms of the factor’s offer are financially acceptable, suggesting a net financial benefit of $11,900, this benefit is small compared with annual turnover of $15.6 million. Other benefits, such as the application of the factor’s expertise to the debtor management of Anjo plc, might also be influential in the decision on whether to accept the offer.
[1 mark]
Answer 9

	1. Costs incurred
	
	$

	Direct materials 30% of $1,500,000
	
	450,000

	Direct labour 25% of $1,500,000
	
	375,000

	Variable overheads 10% of $1,500,000
	
	150,000

	Fixed overheads 15% of $1,500,000
	
	225,000

	Selling and distribution 5% of $1,500,000
	
	75,000


	2. Average value of current assets
	$
	$

	Finished goods 1/12 x $975,000
	
	81,250

	Raw materials 3/12 x $450,000
	
	112,500

	WIP (2 months @ half produced – 1 month equivalent cost)
	
	

	Materials 1/12 x $450,000
	37,500
	

	Labour 1/12 x $375,000
	31,250
	

	Variable overheads 1/12 x $150,000
	12,500
	

	
	
	81,250

	Receivables 2.5 x $1,500,000
	
	312,500

	
	
	587,500

	3. Average value of current liabilities
	
	

	Materials 2/12 x $450,000
	75,000
	

	Labour 1/50 x $375,000
	7,500
	

	Variable overheads 1/12 x $150,000
	12,500
	

	Fixed overheads 1/12 x $225,000
	18,750
	

	Selling and distribution 1/24 x $75,000
	3,125
	

	
	
	(116,875)

	Working capital required
	
	470,625


Answer 10
(a)

Financial analysis

Fixed interest debt proportion (2006) = 100 x 2,425/ 2,425 + 1,600) = 60%

Fixed interest debt proportion (2007) = 100 x 2,425/(2,425 + 3,225) = 43%

Fixed interest payments = 2,425 x 0·08 = $194,000

Variable interest payments (2006) = 274 – 194 = $80,000 or 29%

Variable interest payments (2007) = 355 – 194 = $161,000 or 45%
(Alternatively, considering the overdraft amounts and the average variable overdraft interest rate of 5% per year:

Variable interest payments (2006) = 1·6m x 0·05 = $80,000 or 29%

Variable interest payments (2007) = 3·225m x 0·05 = $161,250 or 45%)

Interest coverage ratio (2006) = 2,939/ 274 = 10·7 times

Interest coverage ratio (2007) = 2,992/ 355 = 8·4 times

Debt/equity ratio (2006) = 100 x 2,425/ 11,325 = 21%

Debt/equity ratio (2007) = 100 x 2,425/ 12,432 = 20%

Total debt/equity ratio (2006) = 100 x (2,425 +1,600)/ 11,325 = 35%

Total debt/equity ratio (2007) = 100 x (2,425 +3,225)/ 12,432 = 45%

[1 – 2 marks]
Discussion of effects of interest rate increase:
1.
Gorwa Co has both fixed interest debt and variable interest rate debt amongst its sources of finance. The fixed interest bonds have ten years to go before they need to be redeemed and they therefore offer Gorwa Co long term protection against an increase in interest rates.
2.
In 2006, 60% of the company’s debt was fixed interest in nature, but in 2007 this had fallen to 43%.
3.
The floating-rate proportion of the company’s debt therefore increased from 40% in 2006 to 57% in 2007.
4.
The interest coverage ratio fell from 10·7 times in 2006 to 8·4 times in 2007, a decrease which will be a cause for concern to the company if it were to continue.
5.
The debt/equity ratio (including the overdraft due to its size) increased over the same period from 35% to 45% (if the overdraft is excluded, the debt/equity ratio declines slightly from 21% to 20%).
6.
From the perspective of an increase in interest rates, the financial risk of Gorwa Co has increased and may continue to increase if the company does not take action to halt the growth of its variable interest rate overdraft. The proportion of interest payments linked to floating rate debt has increased from 29% in 2006 to 45% in 2007. An increase in interest rates will further reduce profit before taxation, which is lower in 2007 than in 2006, despite a 40% increase in turnover.


[3 – 4 marks]
Interest rate hedging:
1.
One way to hedge against an increase in interest rates is to exchange some or all of the variable-rate overdraft into long-term fixed-rate debt. There is likely to be an increase in interest payments because long-term debt is usually more expensive than short-term debt. Gorwa would also be unable to benefit from falling interest rates if most of its debt paid fixed rather than floating rate interest.
2.
Interest rate options and interest rate futures may be of use in the short term, depending on the company’s plans to deal with its increasing overdraft.
3.
For the longer term, Gorwa Co could consider raising a variable-rate bank loan, linked to a variable rate-fixed interest rate swap.

[2 – 3 marks]
(b)

Financial analysis
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[5 – 6 marks]
Discussion

1.
Overtrading or undercapitalisation arises when a company has too small a capital base to support its level of business activity. Difficulties with liquidity may arise as an overtrading company may have insufficient capital to meet its liabilities as they fall due.
2.
Overtrading is often associated with a rapid increase in turnover and Gorwa Co has experienced a 40% increase in turnover over the last year. Investment in working capital has not matched the increase in sales, however, since the sales/net working capital ratio has increased from 26·7 times to 30·5 times.
3.
Overtrading could be indicated by a deterioration in inventory days. Here, inventory days have increased from 37 days to 49 days, while inventory has increased by 92% compared to the 40% increase in turnover. It is possible that inventory has been stockpiled in anticipation of a further increase in turnover, leading to an increase in operating costs.
4.
Overtrading could also be indicated by deterioration in receivables days. In this case, receivables have increased by 109% compared to the 40% increase in turnover. The increase in turnover may have been fuelled in part by a relaxation of credit terms.
5.
As the liquidity problem associated with overtrading deepens, the overtrading company increases its reliance on short-term sources of finance, including overdraft, trade payables and leasing. The overdraft of Gorwa Co has more than doubled in size to $3.225 million, while trade payables have increased by $2·74 million or 137%. Both increases are much greater than the 40% increase in turnover. There is evidence here of an increased reliance on short-term finance sources.
6.
Overtrading can also be indicated by decreases in the current ratio and the quick ratio. The current ratio of Gorwa Co has fallen from 1·3 times to 1·15 times, while its quick ratio has fallen from 0·61 times to 0·58 times.

[4 – 5 marks]
Conclusion:
There are clear indications that Gorwa Co is experiencing the kinds of symptoms usually associated with overtrading. A more complete and meaningful analysis could be undertaken if appropriate benchmarks were available, such as key ratios from comparable companies in the same industry sector, or additional financial information from prior years so as to establish trends in key ratios.
[1 mark]
(c)

Current receivables = $4,600,000

Receivables under factor = 37,400,000 x 30/365 = $3,074,000

Reduction in receivables = 4,600 – 3,074 = $1,526,000

Reduction in finance cost = 1,526,000 x 0·05 = $76,300 per year
[2 marks]
Administration cost savings = $100,000 per year
[0.5 mark]
Bad debt savings = $350,000 per year
[0.5 mark]
Factor’s annual fee = 37,400,000 x 0·03 = $1,122,000 per year
[1 mark]
Extra interest cost on advance = 3,074,000 x 80% x (7% – 5%) = $49,184 per year

[2 marks]
Net cost of factoring = 76,300 + 100,000 + 350,000 – 1,122,000 – 49,184 = $644,884

[1 mark]
The factor’s offer cannot be recommended, since the evaluation shows no financial benefit arising.
[1 mark]
Answer 11
The question as to whether Crago Co can be considered to be overtrading (undercapitalised) calls for the evaluation of a number of indicators of overtrading.
Rapid increase in sales revenue

· Overtrading can arise as a result of a rapid increase in sales revenue which is not matched by a corresponding increase in working capital investment.
· The sales revenue of Crago Co has increased by 42·5% over the year, indicating a rapid increase in sales revenue, while the ratio of sales income/net working capital has increased from 12 times to 86 times, showing that working capital investment has not matched the increase in sales revenue.

[1 mark]
· Overtrading can also arise due to non-replacement of long-term debt which has been repaid (redeemed), but the long-term debt of Crago Co has not changed.
· Overtrading can also arise due to inflation eroding the operating capability of a company, however, information on inflation has not been provided.
Increased reliance on short-term finance

· There is evidence of an increased reliance by Crago Co on short-term finance, since the overdraft has increased by 182% from $850,000 to $2,400,000, while trade payables have increased by 52% from $1,250,000 to $1,900,000.
· In addition, the proportion of current assets financed from short-term sources has increased from 68% to 96%. As noted earlier, there has been no increase in long-term debt.

[1 mark]
Rapid increase in current assets

· Current assets may increase rapidly in line with sales volume and sales revenue.
· Trade receivables have certainly increased by $1,000,000 or 100% over the period.
· However, inventory has only increased by 19% from $2,100,000 to $2,500,000, an increase which is much smaller than the increase in the sales revenue of Crago Co.

[1 mark]
Decline in solvency and liquidity ratios

· The current ratio of Crago Co has declined from 1·5 times to 1·05 times, while its quick ratio has remained unchanged  at 0·5 times.
· Both ratios are below their sector average values of 1·7 times and 0·8 times respectively, however.

[1 mark]
Overcoming overtrading

· Overtrading or undercapitalisation can be overcome by increasing the long-term capital of a company. This could be achieved by Crago Co raising either new debt finance or new equity finance.
· Alternatively, the balance between the level of business activity and the amount of long-term finance could be restored, for example, by calling a halt to the rapid expansion of sales until Crago Co has consolidated its financial position.

[1 – 2 marks]
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Calculation of inventory days for both years – 0.5 marks
Calculation of trade receivables days for both years – 0.5 marks

Calculation of trade payables days for both years – 0.5 marks

Calculation of current ratio for both years – 0.5 marks

Calculation of quick ratio for both years – 0.5 marks

Calculation of sales/net working capital for both years – 0.5 marks

Other financial analysis – 1 mark
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